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001.

002.

003.

004.

005.

006.

007.

008.

009.

SUL WA IR “Hilet [Asin vidand’ asauni 24 [RQsaunaaui el © 7

(A) IMF (B) UNESCO (C) UNDP (D) UNICEF
dapetil AAdAHE 53 A Al 4y dAgL 20 8 ?
(A) walhs (B) [adlu
(C) gl (D) BuR- 618l o uRvil 100 2 B
Al — 13 — 11 H2 410y W35t ue $30 12 2uda s13-l Gualol 53 il gaie wul.
Wil -1 el - 11
(Aar / uleisia) (EETR)
a. AHUL AW~ 1. 2wl el 2 Fduaus
b. £23-u ueisa 2. %qlalaua (Biodiversity)
c. uRnuLmzisia 3. ¥a y8u (Biosafety)
d. A2 AHaA 4. gaudla ¥Hl-l (Wetlands)
ab ¢ d
A 1 2 3 4
B) 4 3 2 1
() 2 3 1 4
D) 3 4 2 1

A A4 59 e Raffiauat “gRo1%y goucu-[l suaul (Inflation Expectations Survey of
Households) *«fl uiosall 53 € ?

(A) SBI (B) RBI (C) IMF (D) Gua-u A s =l
RURAML oualg HU Y 9 ?

(A) seusiveuais (WPI) (B) Ass™Iais (CPI)

(C) Beaungsmuais (PPI) (D) Guu U4l i )

Ao daala diot a3 wa viney 6,

(A) A« aloseu (B) usalla uies-

(C) uda-il ulop-u (D) BGua-LU4l i 1dl

Green Highways (Plantation and Maintenance) Policy, 2015 dst 8l s@ilatl-u [ st
Ui seul WRLR s wanisll (241 213+t A W2 weULL AL 2uadl.

(A) 1% (B) 3% (C) 5% (D) 10 %

o ue s A2as, ot ugRimgA DA-uuid) i st aollga e s ?
(A) qAgAUERS  (B) seu§ ynugRive  (C) dlrynusBirg (D) @R ¥ YRS

euRdAHL 2l udaa g2 a¥ A d S gz usiBid sl 2ud © ?

(A) Rod ols 215 SRa (B) wgu Haay, ¢id SR
(C) aldiru H-udy, *Ud AR (D) Geilor H-uau, MURd AR
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001. Which organization formulated and developed ‘Human Development Report’ ?

(A) IMF (B) UNESCO (C) UNDP (D) UNICEF
002. Which sector contributes highest to the Gujarat economy ?
(A) Primary (B) Secondary
(C) Tertiary (D) All the above contribute equally
003. Match List — I with List — Il and select the correct answer using the codes given below the
lists :
List -1 List-1I
(Convention/protocol) (Subjects)
a. Ramsar Convention 1. Hazardous chemicals and pesticides
b. Cartagena Protocol 2. Biodiversity
c. Nagoya Protocol 3. Biosafety
d. Rotterdam Convention 4. Wetlands
ab c¢c d
(A) 1 2 3 4
B 4 3 2 1
(C) 2 3 1 4
(D) 3 4 2 1

004. Which of the following institutions regularly conducts the ‘Inflation Expectations Survey of
Households’ ?

(A) SBI (B) RBI (C) IMF (D) None of the above
005. What is the measure of inflation in India ?

(A) Wholesale Price Index (B) Consumer Price Index

(C) Producer Price Index (D) None of the above

006. The Third Five Year Plan is also known as
(A) SenYojna (B) Gadgil Yojna
(C) Mahalnobis Yojna (D) None of the above

007. Under the Green Highways (Plantation and Maintenance) Policy, 2015 the percentage of
total civil cost of National Highway Development Projects is to be set aside as plantation of

trees
(A) 1 percent (B) 3 percent (C) 5 percent (D) 10 percent
008. The Water Footprint Network does not classify the water footprints under the category
(A) Blue water footprint (B) Brown water footprint
(C) Green water footprint (D) Grey water footprint
009. Economic Survey in India is published officially, every year by
(A) Reserve Bank of India (B) Ministry of Finance, Govt. of India
(C) Ministry of Commerce, Govt. of India (D) Ministry of Industries, Govt. of India
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010.

011.

012.

013.

014.

015.

016.

017.

018.

019.

020.

021.

DA VA 56 AR 52 YRl 2100 w530 217 Yar salga ?

(A) e g ulHla (B) edtadl uMl

(C) A Adws ARl (D) sy uHld

Ui e dami _ gea Al [A2ell yfAswirdl 2ol 2uucuni 2udl ©.

(A) 26 % (B) 49 % (C) 74 % (D) 100 %

2017 Dl edlu 212 DA Dy o=t Aud 1B Uy ay YAl iRl sl 8,
(A) 70 (B) 72 (C) 75 (D) 78

aurd-l uau Payment Bank 8 39 1d12 2016 Hi uldifl 5100 23 53 gdl.

(A) Airtel Payment Bank (B) Aditya Birla Idea Payment Bank
(C) India Post Payment Bank (D) PayTM Payment Bank

ARz .04l (2015 16) Wi AAAA AFAA AR o =il B..

(A) 5.2 (B) 7.3 (C) 14.1 (D) 12.3

Aiysd 20z Qs seisn 350 2016 - Wit [As wdanaedl Sl [Qvuag — 8.
(A) €352 Wwina [As (B) Huira [Asim w2 sl 59

(C) wria 2«51 244 Wi [Asin (D) (@01 24 wira [asia

AFAAU 2016 — 17 «L igluxAHi [@Asia vl Jeo suotd Gardl sHul A 2 6, A1 U4
sy e ?

(A) alys A, RS 21 Y2 R, e [@si, asaeasi

(B) mmlys Al arsreaasiz, Raud sy Redsa, God

(C) wwules A, Argncaagir, G, R 24 y2 (R

(D) wmwulrs A, Rus 214 y2 M=, draasiz, God

el van yaaly dou U AR W Gur 2nalRd edl.
(A) R s (B) 2ud2 gSu (C) w2, s, 833 (D) L. . werelBrat

MURA URSIR YridH 25141 Gl elven i s2dlar s3 8 ?
(A) s quid (B) 6l quid (C) A avid (D) WR 9md

56 AR[A 54 88 350 52 AN Uje sl mampL 530 sdl ?
(A) Aduis Al (B) 3as: uMAld (C) anw ululd (D) dgas uAld

vigloruani A sl vy A24 -

(A) 3yl 2uds + A1 Alvyy B (B) tiga-dl vy + U1 Alvey B
(C) %8l vy + udydl wiy (D) wal¥s vus ~ 3y vy

eudla 232 Grsel 2us 56 AR Mann 60 s 2udl 8d) ?

(A) RRen uMld (B) darn ufAld

(C) N, A, sidaua ufld (D) 2. L. suaa ufld
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010. Which of the following Committee examined and suggested tax reform ?
(A) Abid Hussain Committee (B) Bhagwati Committee
(C) Raja Chelliah Committee (D) Narasimham Committee

011. The Foreign Direct Investment in India’s Defence Sector is allowed up to

(A) 26 percent (B) 49 percent (C) 74 percent (D) 100 percent
012. The National Health Policy 2017 aims to increase the life expectancy at birth to

(A) 70 years (B) 72 years (C) 75 years (D) 78 years
013. India’s First Payment Bank that started its operation in November 2016 was

(A) Airtel Payment Bank (B) Aditya Birla Idea Payment Bank

(C) India Post Payment Bank (D) PayTM Payment Bank

014. The Gujarat State Accounts for about % share to national GDP (2015 — 16).
(A) 5.2 (B) 7.3 (C) 141 (D) 12.3

015. The central theme of the United Nations Development Programme’s Human Development
Report 2016 is
(A) Human development for everyone (B) Work for human development
(C) Human rights and human development (D) Gender and human development

016. The main item of developmental expenditure in Gujarat Budget 2016 — 17 in descending
order are given as under, which of the following is true ?
(A) Social Services, Irrigation and Flood Control, Rural Development, Transport
(B) Social Services, Transport, Irrigation and Flood Control, Energy
(C) Social Services, Transport, Energy, Irrigation and Flood Control
(D) Social Services, Irrigation and Flood Control, Transport, Energy

017. India’s First Five Year Plan was based on economic model of

(A) Ranis Fie (B) Arthur Lewis (C) R.F. Harrod (D) P.C. Mahalnobis
018. How many times in a year Government of India announces Minimum Support Price ?

(A) Onetime (B) Two times (C) Three times (D) Four times
019. Which Committee recommended abolition of tax rebates under Section 88 ?

(A) Chelliah Committee (B) Kelkar Committee

(C) Shome Committee (D) Tendulkar Committee

020. Fiscal deficit in budget means
(A) Revenue deficit plus the net borrowings of the government
(B) Budgetary deficit plus the net borrowings of the government
(C) Capital deficit plus revenue deficit
(D) Primary deficit minus capital deficit

021. State Bank of India was established by which of the following Committee’s recommendation ?
(A) Narasimham Committee (B) Vidyanathan Committee
(C) M.L. Dantwala Committee (D) A.D. Gorwala Committee
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022.

023.

024.

025.

026.

027.

028.

029.

030.

031.

032.

DA-uiel 53 Ao AR nan 31 25l ws g s 530 8 O ?
(A) R (B) saies (C) Aigua (D) almaug

AR nan v 9.
(A) Agnd AR (B) aius AR (C) ot UM (D) ailsul IR

62516 (Bitcoin) ) Rwiua 19 50 ¢l ?
(A) 4. [faux (B) amdllusicl  (C) [Bradizx (D) HSWE Yo

CIRAHL “2a2%9 IR GUsR N E Y B ?
(A) 0.25% (B) 0.5% (C) 0.75% (D) 0.45%

[@aui World Happiness Report 2017 Hji ¢i1d+l $4 541 8 ?
(A) 118 (B) 119 (C) 122 (D) 125

eudly (st w2 D2 WA sy Aldl WE oo 8 ?
(A) OPEC (B) OECD (C) (D) UAE

2016 [R5t W2 eURd AR giRL DA WS s 6L A, ssdi-i AL (Towns of excellence)
a1 GHRAML v € ?

(A) ugs 2 slase (B) ellmary 2 [Qauviugny
(C) gffarit 2 wellua (D) Byt A disfiz

2017 — 18 «l 3% 2ig1ruaAni Giuni »udd ‘SANKALP 46 ?

(A) Skill Acquisition and knowledge awareness for livelihood promotion programme
(B) Smart city land Acquisition awareness programme

(C) Skill Acquisition and knowledge awareness programme for life

(D) Small scale knowledge promotion

(lAoll WSl s Wt GeUlEstl M2 ofotetH 5lotl llcloll BleHgl 53 B ?
(A) §Ray (B) 2udly- i
(C) &R (Budl 244 wal 12 2nalo (D) asdlu 5w alle [Asiu ols (NABARD)

Micro, Small Medium Enterprises Development Act, 2006 (MSME Development Act, 2006)
Yorot yau Bt AsHi- adllsre w2 yAR1swHl walel sl © ?
(A) 3L 25 &t (B) 3L.10 & (C) 3L 2 533 (D) 3L 5 533

gRaru 32ens uxie sl W2 UNDP i wirta [Asize wAdaie 2010 wisll 2dsefld awaddl s34
SSIR ULSUHE 2AA i (510 2AisHE MuRdA 56 sl Yo 2ucdl 8 ?

(A) Dl wa s (B) vanwalsu  (C) Gl wqalsu (D) vor BRI wina [Rsi

CSP-02 - A 6 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


022. Which of the following States is planning to set up Asia’s First Rice Technology Park ?

(A) Odisha (B) Karnataka

(C) Andhra Pradesh (D) Tamil Nadu
023. Asia’s First Stock Exchange is

(A) National Stock Exchange (B) Shanghai Stock Exchange

(C) Bombay Stock Exchange (D) Tokyo Stock Exchange
024. Bitcoin was propounded by

(A) T.Williams (B) Satoshi Nakamoto

(C) Bill Gates (D) Mohammad Yunus

025. What is the rate of Swachh Bharat Cess in India ?
(A) 0.25% (B) 0.5% (C) 0.75% (D) 0.45%

026. What is the rank of India in World Happiness Report 2017 ?
(A) 118 (B) 119 (C) 122 (D) 125

027. Which of the following is the largest market for Indian exports ?
(A) OPEC (B) OECD (C) China (D) UAE

028. Which of the following two towns of excellence have been added by Government of India
for exports 2016 ?
(A) Madurai and Calicut (B) Bhimvaram and Vishakhapatnam
(C) Ludhiana and Panipat (D) Tripura and Thanjavur

029. Union Budget 2017 — 18 has introduced SANKALP which stands for
(A) Skill Acquisition and knowledge awareness for livelihood promotion programme
(B) Smart city land Acquisition awareness programme
(C) Skill Acquisition and knowledge awareness programme for life
(D) Small scale knowledge promotion

030. Who among the following recommends the minimum support prices for agricultural products ?
(A) Ministry of Agriculture
(B) Planning Commission
(C) Commission for Agriculture Costs and Prices
(D) National Bank for Agriculture and Rural Development

031. As per Micro, Small Medium Enterprises Development Act, 2006 (MSME Development
Act, 2006), the investment limit for classifying a Micro Manufacturing Enterprise is
(A) Rs. 25 Lakhs (B) Rs. 10 Lakhs (C) Rs.2 Crores (D) Rs. 5 Crores

032. In which category India placed in the Human Development Index compiled and computed
from UNDP Human Development Report 2010 for selected countries in the world ?
(A) Low Human Development (B) Medium Human Development
(C) High Human Development (D) Very High Human Development

CSP-02 - A 7 P.T.O.
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033.

034.

035.

036.

037.

038.

039.

040.

041.

042.

043.

044.

2 424 AR D2 WA 2w e Duani 2udl edl ?

(A) FRBM 2is2+) ulau w2 (B) [Aylas@fl U1l AR s HI2
(C) Rlraa ysasllal w (D) ysagl tiesl(Qire tlesn) A ALS A 20U 2
2004 — 05 #l 2015 — 16 g% Al A3 Ws GSDP 9l 22 324l 8dl ?

(A) 10.02 % (B) 8.02% (C) 12.02% (D) 14.02 %
2011 L ardl el uwidl A0 AL 51 3rguid uBaui wadl €2 Al Gl edl ?

(A) €lae (B) gxaLuA €la (C) ygad (D) aalgu

2016 — 17 - wulls udae Yoror (AU 2Hid-%u i+l GDP 4i Rl »0ad 8.
(A) 28 % (B) 43 % (C) 54 % (D) 61%

A1 U4 56 222124 “Grand Innovation Challenge” »y3afl ?

(A) nar-l silas (PMO) (B) [Qsu-t 24 2s-ictlo Wl Hnau
(C) NITI 2ulat (D) alioru H=neu

CIRAML 3L AFUHL Hid [As11 i Gl 8 ug 2ias D0 & ?

(A) Yool (B) a2 (C) 3 (D) AXUd
201541 2¢d W2 RN 204 S5 (Kayakalp) WRNe xeig sa s ?

(A) 204 Yuw (B) A 1

(C) . -yl (D) Rari a2

o yaaly dlor-ie vid Ydui wadls adoll g2dl a213au-l Gaal dl.

(A) 5% (B) 10 % (C) 15% (D) 20 %

RBIl a1l wiale[Rist umudl w02 2 ies viig vildigal w2
(A) 10anEfl Gua-l GuReuon uoll2 Hdl-Rdl awddl a3 vl o Gies vug vilend) us.

(B) 10 arell Guarit #02A AU Yee cualfa vilend) 43 dal 68l o UstR-U 6les vildl vilaaai-ll
wdisll 69,
(C) 10 ariell Guz+ll Guaion 2302 1t 21y vitl Ricua-u ollon e o st s viid vl

well 69,
(D) Gua-u U4 s s 4]

wdls wisdl qasll sl wa d ?
(A) ot - g (B) 2is2lR -4dwk  (C) A -9n (D) W - AR

2011 0l awel ol yorer N WS sui Awa4i 1991-2001 N uvunedui 2001-2011 -
gUsU aredl atiell e A ay el & ?

(A) Griuga (B) us12 (C) B (D) wiguda

Y s wgfasiu sidsu (UNDP) (8o (st yais DA U4 sun 1 wRaweisi 2021 244 ygul
Q2] vl s @ wea [@s R [ar-vriddd, wld 8 ?

(A) U124, UL A4 DAL (B) adl6d), siloroudl 44 213y
(C) UMl s u WA (D) UR2Y, 2l Bl HAMIAA
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033.

034.

035.

036.

037.

038.

039.

040.

041.

042.

043.

044.

Ratan Wattle Committee was formed on which of the following ?
(A) To review FRBM Act (B) To study effects of demonetization
(C) For Digital Payments (D) On giving licenses to payment banks

What was Gujarat’s average annual GSDP growth rate during 2004 — 05 to 2015 -16 ?
(A) 10.02 % (B) 8.02 % (C) 12.02 % (D) 14.02 %

As per 2011 census the literacy rate is highest in which of the following Union Territory ?
(A) Chandigarh (B) Daman and Diu  (C) Puducherry (D) Lakshadweep

As per Economic Survey 2016 — 17, India’s aggregate inter-state trade is about
of GDP.

(A) 28 % (B) 43 % (C) 54 % (D) 61 %

Which of the following organization launched the ‘Grand Innovation Challenge’ ?

(A) PMO (B) Ministry of Science and Technology
(C) NITI Ayog (D) Ministry of Commerce

In which State of India, index of human development is higher but income is low ?

(A) Punjab (B) Rajasthan (C) Kerala (D) Gujarat

The Kayakalp Council for Railways set up in 2015 is headed by

(A) Azim Premiji (B) Rahul Bajaj

(C) N. Narayanmurthy (D) Ratan Tata

The target of reduction in head-count poverty level by the end of 12t Five Year Plan was
(A) 5% (B) 10 % (C) 15% (D) 20 %

As per the latest guidelines of RBI for Minor persons to open bank accounts

(A) Minor above 10 years can open new bank accounts only with parents as guardian

(B) Minor above 10 years are permitted to open all types of bank accounts that an adult person
can open

(C) Minorabove 10 years are permitted to open all type of bank accounts except current account

(D) None of the above

Kharif crops are harvested in
(A) June — July (B) October — November
(C) May — June (D) March — April

Which of the following states has seen the highest decline in its decadal growth rate in
population during 2001 — 11 compared to 1991 — 2001 as per the census 2011 ?
(A) Uttar Pradesh (B) Maharashtra (C) Bihar (D) Andhra Pradesh

The UNDP Gender Development Index measures the gender gaps in human development
achievements by accounting for disparities between women and men in which of the following
three dimensions ?

(A) Health, knowledge and living standards  (B) Poverty, unemployment and health
(C) Inequality, income and expenditure (D) Health, knowledge and inequality

CSP-02 - A 9 P.T.O.
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045. auadui adlef3vn vigaral Wi AHaidal Fesl udaa o eia 43 89 ? . )
(A) Al udaigl A (NSO) (B) xdlu [Real udaa siuiau (NSSO)
(C) el udara A1 (D) Gu A Asuw )

046. oruidmi 58 e ApAHE YIRS Wi A=l a3 514 53 O ?
(A) IMFIG ($[=u FMart sR&2aq SARARA - dgoraid)
(B) GIDC (sud Ss2dluct 3aauirz sulai)
(C) GIIC (31d S=slud Swdred-2 siulRu)
(D) INDEXT b (§32gluct 2153221t 633))

047. oA wAet aélHiell RBI gl sletHl PRI adl Rl dizeu/2raul urie s3
(A) EXIM6l=5 (31sauld Swuld 6i-5)
(B) NHB (Rairiet s16[Rio1 6i-s)
(C) NABARD (Heinid ti= 312 vl 562 A3 324 Jaauil-2)
(

D) Guar asun
048. ®Rd sl il ysd Ad 4S5 S S-faw’ dsn sl 226 (Kamov 226) ddlsied Gl

528 ? .

(A) i (B) =Aau (C) y.2u. (D) $xuda
049. «d B1md sAAA ‘Yo’ vuasdug Red su w2 97

(A) isRuid ad w2 (B) alRw -wal3st w2

(C) dau @R Al we (D) ~urir geuefla w2
050. MUl t925 i oreaviy [Eud BuR “syuR 3801 Al 2R 249 sl il DA AR 56

Al Asonddl ¢ ?

(A) dgas2 ula (B) 2fimd A1 uBmA  (C) Ao e aBR (D) . 3. uan abl
051. [Ayagn uR &t 2uaRedl 2na uudl Qs s2dl & ?

(A) 55 (B) 16 (3.4l (C) 20 .+l (D) 50 (..
052. (-t Hl2L G- 91RH WL $UL AT 223 Budai Q) ?

(A) 0°— 5° (B) 5°—15° (C) 15°—30° (D) 30°-50°

053. ‘Aol Qaus-2l-yll’ sidl a2l o udl & ?
(A) WiuaL (Crust) 4 Aey (Mantle)
(B) #vza (Mantle) »1+ qpaie{ (Core)
(C) Burd #-2a(Upper Mantle) 24 1 A2 (Lower Mantle)
(D) tugr M (Outer core) i 2AidlRs el (Inner core)
054. e usR-l susleardl calSisar g  ?

(A) una ay e[ aruie (B) @l Rl 244 yps Gruol

(C) Gruou eRart MM ARRUE (D) uuat v eRau WYl dRzue
055. darud-t stéluand [Qeu i A1 WA s usR-L yuRaug (Drainage) sict vl & ?

(A) 20512 (B) q&usiR (C) allusiz (D) Broru

CSP-02 - A 10 [Contd.
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045. Who conducts the periodical sample survey for estimating poverty line in India ?
(A) National Survey Organisation (NSO) (B) National Sample Survey Office (NSSO)
(C) Sample Survey Organisation (D) None of the above

046. Which organization in Gujarat works as the investment promotion agency of the State ?
(A) IMFIG (India Mission Facilitation Initiative — Gujarat)
(B) GIDC ( Gujarat Industrial Development Corporation)
(C) GIIC (Gujarat Industrial Investment Corporation)
(D) INDEXT b (Industrial Extension Bureau)

047. Select the Financial Institution / Institutions currently regulated by the RBI from the list
given below.
(A) EXIM Bank (Export Import Bank)
(B) NHB (National Housing Bank)
(C) NABARD (National Bank for Agriculture and Rural Development)
(D) All of the above

048. India will manufacture Kamov 226 helicopter under ‘Make in India’ program jointly with

(A) France (B) Russia (C) USA (D) lIsrael
049. The newly introduced income tax return form ‘Sugam’ is for

(A) Salaried class (B) Senior citizens

(C) Women tax payers (D) Small Businessmen

050. Which of the following Committee is associated with the working on ‘future trading’ effect on
retail and wholesale prices of agricultural products ?

(A) Tendulkar Committee (B) Abhijit Sen Committee

(C) Rakesh Mohan Committee (D) Y.K. Alagh Committee
051. The average height of the Troposphere over the Equator is about

(A) 5 Kms (B) 16 Kms (C) 20 Kms (D) 50 Kms
052. The Most of the hot deserts of the world lie between the latitude of

(A) 0°— 5° (B) 5°—15° (C) 15°-30° (D) 30°-50°
053. Gutenberg discontinuity is found between

(A) Crust and Mantle (B) Mantle and Core

(C) Upper Mantle and Lower Mantle (D) Outer Core and Inner Core
054. The Mediterranean type of climate is characterised by

(A) Rainfall throughout the year (B) Wet winter and dry summer

(C) Maximum rain during summer (D) Scanty rainfall throughout the year

055. Which one of the following drainage pattern is found in the Kathiawar region of Gujarat ?
(A) Rectangular (B) Dendritic (C) Trellis (D) Radial

CSP-02 - A 11 P.T.O.
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056.

057.

058.

059.

060.

061.

062.

063.

064.

DA WAL s / s [Aait vudLsiiL 0L oueid 01 / Al ) ?

i d Hiondlami 2udd 8.

i d [ Al 34 Gir-ylau 2 8.

il qq QREs 518 gl udl ©.
(A) 5d i (B) &5d i v (C) &5d ii wirliiii (D) &5 iii
RURAML DA UL 53 MR Goflril Beurgnt A aHdL 4Ad € ?
(A) ¥Rl 2vud (B) viend-l 2vitd
(C) 49+l v (D) [Rest Aar
2011 fl aadl ot stqR A0 A4 s34 A% 2949 o-oald-A Aell D= esindl wd & 7
(A) Rdiru (B) Hallyz (C) «woudss (D) A3RuA4 UL2

2011 azdl avatal yoror A+ UL sul WARAL E4L B2l el WAl 51 9 ?
(A) 30 - AAizM - Byl - sl (B) 32 - vl - iyt - Moliau
(C) FMAaw - $am - ol - By (D) ot - 320 - [#oi™ - (gl

AEL — 1+ el — 1 0 A0 23 DA 2 S8 w2l gt ude 3l

gl (rglal) wel—1l (Guaglai)
a. (3w 1. 2004
b. &eyol 2. Swdiadl
c. gl 3. dlldd
d. uyL 4. damst
a b ¢ d
A 4 2 1 3
B) 2 1 4 3
(C) 3 4 1 2
(D) 4 3 2 1

AU WA 56 €] GRd A AU 422 widARza L o1nd & ?
(A) digs (B) sill (C) weL (D) dlzet

oA ANUHIA HTH B2l A2 — 90°C LU 8 Al AldldR8AL 204817 g 58 O 7
(A) qHAY PR (B) H=uARQ (C) sl (D) st 2uar8l

AU 2 Hrtrll G121, 5 opul 451 AlguyR dRH Ay uyzua oou A B, A4 3 53 8 ?
(A) &slardn (B) isgs U (C) d1R¥ adin (D) RaR

deade-l 8 ad 39 Sl gl A Slu g ?
(A) Aeyfluy -l (B) audz ziisauds  (C) audddlyd (D) fiue wisuss
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056.

057.

058.

059.

060.

061.

062.

063.

064.

Which of the following statements is true about Atacama desert ?
i. Itis situated in Mongolia
ii. Itisthe driest non-polar desert on the world
iii. It has a strip of land on the Pacific coast

(A) Only i (B) Onlyiandii (C) Onlyiiandiii (D) Only iii
Which one of the following has a potential for harnessing of tidal energy in India ?
(A) Gulf of Mannar (B) Gulf of Cambay

(C) Gulf of Kachchh (D) Chilka Lake

Which one of the following states has relatively the lowest percentage of scheduled tribes
as per 2011 census ?

(A) Mizoram (B) Manipur (C) Nagaland (D) Arunachal Pradesh

Which one of the following is a correct sequence in descending order of literary rates
according to 2011 census ?

(A) Kerala— Mizoram — Tripura — Goa (B) Kerala— Goa — Tripura — Mizoram
(C) Mizoram — Kerala — Goa — Tripura (D) Goa — Kerala — Mizoram — Tripura

Match List — I and List — Il and select the correct answer from the codes given below

List -1 List-1I
(Rivers) (Tributaries)

a. Krishna 1. Chambal

b. Brahmputra 2. Indravati

c. Godavari 3. Lohit

d. Yamuna 4. Tungabhadra
a b

N = =20
D wWwwa

(A) 4 2
B) 2 1
(C) 3 4
(D) 4 3
Which one of the following river forms the international boundary between India and Nepal ?
(A) Gandak (B) Kosi (C) Sarada (D) Tista

The layer of the atmosphere where temperature decreases to a maximum of about —90° C
is known as

(A) Stratosphere (B) Mesosphere (C) Tropo pause (D) Troposphere

The part of the frontal contact zone where cold airmass replaces the warm airmass is
known as

(A) Cold Front (B) Occluded front (C) Warm front (D) Stationary front
Laterites owe their deep red colour to the presence of

(A) Aluminium Compounds (B) Iron oxides

(C) Zinc compounds (D) Copper oxides
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065.

066.

067.

068.

069.

070.

071.

072.

073.

074.

Slyosdl Agydl Sl A 2udddl © ?

(A) Adl UYg Vi G WY (B) 120l uyg w14 Adl uys
(C) ulZiairut vttt A AU AU (D) 2eu 247 Yuisn

A (e WA e Qe st Guaion 531 20w,
1. Mgl sivilami ag .

2. uHul addl Al 4 s Al qisl) 8,
3. dal ey (el uR Rulel saumi 2ue 8,
4. gL ugly Ay orud 89,

(A) 8541 %143 (B) $5d2 4 (C) $5a2,3ud4 (D) 85d1, 2 w4
{2 A5l 5l 2804 ez oo opgn) 25020Hidl dis2iuzs (Iron Ore) Aad & ?

(A) [Qauvnuzay (B) uBr3en (C) ™gradl (D) ellews

2011 "l azell 2R 202 GuRani DA-u WA 54 0% Aiell ay 2390520 4 & 7

(A) A1 (B) 3 (C) almarug (D) HSRW
&ilRor=u (Rl youed sui a wd & ?

(A) vifla syl 214 e (B) Glst oirdn

(C) uyseud (D) uygll udamionii 17 2531

wisudd (Moh's Scale) +il GualoL g 458l s2a w2 wa & 7
(A) ugidxdlr  (B) udlFad  (C) wlRANsRar (D) vyl Rafdreusdy

D2 WA sl 2 uYguas © ?

(A) 344 (B) tvudl Maus (C) auwsusiz (D) §Ra
DA euda AglzilA Al aied Al A0 sHui Mgl

(A) Hirel - el - ayru - s1ad) (B) -i#el - M€l - 514 - uayn
(C) uyrir - -alel - UMl - 1A (D) ~t#leL - ayeit - 5199 - Hedl

HSLANURUL Aell AR LE (600 AL AR18) 24l YU Adl aAE (70 AL aRLE) - sU1L USR
aag-L ol Belsel © ? o ’

(A) d2inslarue (B) &yt / Glaus Al araue
(C) Gualdiriurt -l AR e (D) UAlN ) 4R U1E

A2 orgudd Ayl dudl ardiaRami 2s1adl-u s2dl odl sHU sl
T iR+
2. Auseiwn
3. sl qlsNS3
4. o[
Codes:
(A) 1,2,3%44 (B) 2,1,4%43 (C) 3,4,2% 1 (D) 2,1,3%1 4

CSP-02 - A 14 [Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


065.

066.

067.

068.

069.

070.

071.

072.

073.

074.

Strait of Hormuz lies between
(A) Red Sea and Mediterranean Sea (B) Arabean Sea and Red Sea
(C) Persian Gulf and Gulf of Oman (D) Java and Sumatra

Among the following statements, identify the correct statements by using the codes given
below

1. Narmada flows in a rift valley

2. Narmada is the longest among the west flowing rivers

3. Tawa reservoir built across Narmada

4. Narmada forms wide estuary

(A) 1 and 3 only (B) 2 and 4 only (C) 2,3,and4 only (D) 1,2, and 4 only
Which of the following steel plants gets its crude iron ore from Bababudan hills ?

(A) Vishakapatnam (B) Rourkela (C) Bhadravati (D) Bhilai

Which one of the following states of India is most urbanized as per 2011 census ?

(A) Gujarat (B) Kerala (C) Tamil Nadu (D) Maharashtra
Terrigenous deposits are found mainly in

(A) Continental Shelves and slopes (B) Deep sea plain

(C) Ocean trenches (D) Oceanic ridges and troughs

Mohs’ Scale is used to determine
(A) Brightness of substance (B) Viscosity of a fluid
(C) Hardness of minerals (D) Elasticity of minerals

Which one of the following is warm ocean current
(A) Canary (B) Gulf Stream (C) Labrodar (D) Kurile

Arrange the following rivers from longest to shortest length.
(A) Mahanadi— Narmada —Yamuna—Kaveri (B) Narmada — Mahanadi — Kaveri — Yamuna
(C) Yamuna— Narmada — Mahanadi—Kaveri (D) Narmada — Yamuna — Kaveri — Mahanadi

Rains received in Mahabaleshwar (rainfall of 600 cms) and Pune (rainfall of 70 cms) are
two examples of which type of rainfall?
(A) Cyclonic (B) Orographic (C) Conventional (D) Frontal

Arrange the following gases in descending order of percentage in the atmosphere.
1. Oxygen
2. Nitrogen
3. Carbon Dioxide
4. Argon

Codes:
(A) 1,2,3and 4 (B) 2,1,4and 3 (C) 3,4,2and 1 (D) 2,1,3and 4
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075. weugt uud, w81 Bur, si-iille: 21 o [Baz-u 7 : 00 AM GMT uuy eaild 8. orsiorg mia
e Y 8 ?
(A) 75° yMamdwia  (B) 150°Yyd uia (C) 75°yd3wiat (D) 150° uluy 3wig
076. Wl — 1A agl — I 08 %A 2 DA-umiell il 513 waie 53
gl (ydls ganaad)  wdl- 11 (wn/ sw)

a. s 1. Yl

b. el 2. y3eusrial

c. Wi 3. diuyHin,

d. &dl-aie 4. yas
ab c d

A) 3 2 1 4

B) 4 3 2 1

(C) 2 4 3 1

(D) 3 1 4 2

077. 01 U4 56 A doy Ad AA) o)) ?
(A) 4 51 (Blue Revolution) — ui9ell 241 eRuS vilais
(B) ¥l sult (Rainbow Revolution) — 4[24 suouad
(C) #d sil= (White Revolution) — §4 241 g+l t4-1a2)
(D) el sul-a (Yellow Revolution) — 1 44 $&

078. 2011 Nl azdl ol Hosor Aol DAu AA s Brecuni 0 e Al ileg Ay S 1

(A) AHglug (B) s%9 (C) URd (D) i
079. 553t A 4s3gn Gu YAl awe RUR A uRaun 8 7

(A) WRenal (B) saummal

(C) yedle 2telly 4w (D) talld 4w uy saaiuel

080. Yell-t AL vieid 2230 Slat 9l il 3 191 et 2430 3d) DA 2l 93 B 7
(A) 30 aud Gur dse goun dladl A Geserrt Pig, 613 ©.
(B) 3l cudL Guz il eona diandll A Gesant Big Gl 8.
(C) 3l cuot By dlse soum dusll A Gesant Rig 09 .
(D) 3Fsu audL Guz iled eoumt dladl A Gesant Big 2 9.

081. Gil%&lquql%ugwgl[?mwtu&Haivuglﬂqa-&, 2000 (Indian Noise Pollution Regulation and

Control Rules, 2000) 418l Leq levels 23lis [Qactiz i 212l 31 dl aug 1 ASA,
(A) 40 dB (A) (B) 45 dB (A) (C) 50 dB (A) (D) 55 dB (A)

082. 9RidHidl Sarl A Ui el @iouni Qion Hidzdl 24 56 & ?
(A) AMEIUE -8l (B) A@art (C) lvu - ARy (D) dirdl - vfou
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075. At noon time on shipboard , a chronometer reads the time as 7:00 AM GMT of the same
day. What is the longitudinal location of the ship ?

(A) 75° West longitude (B) 150° East longitude
(C) 75° East longitude (D) 150° West longitude
076. Match List — I and List — Il and select the correct answer from the codes given below :
List -1 List -1l

(Oceanic Movement) (Force/Cause)
a. Current 1. Density
b. Water mass 2. Gravitation
c. Wave 3. Temperature
d. Tide 4. Wind

ab c¢cd

(A) 3 2 1 4
B 4 3 2 1
(C) 2 4 3 1
(D) 3 1 4 2

077. Which of the following pairs is mismatched ?
(A) Blue Revolution — Fish and Sea food
(B) Rainbow Revolution — Agriculture and Horticulture
(C) White Revolution — Milk and Milk production
(D) Yellow Revolution — Fruits and Flowers

078. Which one of the following districts of Gujarat has recorded the lowest female population as
per 2011 census ?

(A) Ahmedabad (B) Kachchh (C) Surat (D) Dangs
079. Apparent position of the sun over tropic of Cancer and Capricorn is the result of

(A) Rotation (B) Revolution

(C) Inclined axis of the earth (D) Revolution on an inclined axis

080. Despite intense heat in the core of the Earth, how can its central part can stay in solid form ?
(A) Due to the intense pressure on the central part, its boiling point is high
(B) Due to the low pressure on the central part, its boiling point is high
(C) Due to the intense pressure on the central part, its boiling point is low
(D) Due to the low pressure on the central part, its boiling point is low

081. According to the Indian Noise Pollution Regulation and Control Rules, 2000 the Leq levels

should not increase more than at night time in residential area.

(A) 40dB (A) (B) 45dB (A) (C) 50dB (A) (D) 55 dB (A)
082. Which is the longest distance train going from Gujarat to other parts of the country ?

(A) Ahmedabad — Howrah (B) Navjeevan

(C) Okha — Rameshwaram (D) Tapi—Ganga
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083. wél— A wgl — 11 0l A8 244 DA 2uda H3+) Gualor 53] ) wasL YAE 5.
gl —1 (ool) wd-11 (Ba)

a. Auia, 1. yAd=s
b. yrieu 2. afla
c. ui 3. wasdlu
d. waidl 4. uSeu
a b c¢cd
A) 4 3 1 2
B) 3 4 2 {1
(C) 1 2 3 4
D) 2 1 4 3
084. -DaA-u A4 sul 2ulRall uyei v curdld 25021 i FAAH] L 4l ?
(A) AR (B) olla (C) wiay (D) alis

085. yedl+fl amaudl wudl drct el © ?

(A) 2.7 um /a3 (B) 3.0um /a3 (C) 5.5am /a3 (D) 16.0uu /A3

086. uysHi AL UL sl 4R ueam Sl 6§ ?

(A) RARx salss (B) #oriliun ued2
(C) @au ucse (D) wi2@uw uede
087. U= (3u), iucuf@ian (AAds) 2 iRaed] (M) 41 Geisaw 6.
(A) vizydd) (Block Mountains) (B) %-iuddl (Old Mountains)
(C) «aiuddl (Young Mountains) (D) 313 uddl (Fold Mountains)
088. A UL 56 A e Jad-2 [ (Catchment area) & ?
(A) gL (B) adl (C) usiriél (D) ougwad)
089. {lai-it WAL ol sUL Ay s81-U Geurg e HIS Wvdid, 8 ?
(A) 2uum, uBan sioumn w1 RlEsy (B) HMBL, HSIREZ A AL
(C) 5, su12s YA AU (D) sRuu, Muis = Ruaa uda

090. +fla-u Ul s vissq M g1 Rafeag el ?

(A) siaxi (Coal) (B) Wl wgs (Shale) (C) ¥l (Limestone) (D) 25 (Chalk)

091, syl orsllv vt g 4 6 ?
(A) Fumyel (B) waw
(C) adaiwsl e RAva (D) artzuld 14 gl

092. uRad- vid)/addz uRad+ (Slash and burn agriculture) 54 A%aui WawA 8 ?
(A) Rwaa wia (B) suul2s (C) Rilau (D) ARvis

093. QAU su1 20, yuley Al adal 19l ?
(A) uwsie (B) ¥d (C) Aan (D) ey
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b

083.

084.

085.

086.

087.

088.

089.

090.

091.

092.

093.

Match List — | and — List — Il and select the correct answer from the codes given below :

List -1 List -1l
(Tribe) (Country)
a. Semang 1. New Zealand
b. Yuroba 2. Brazil
c. Bora 3. Malaysia
d. Maori 4. Nigeria
a b cd
A 4 3 1 2
B) 3 4 2 1
) 1 2 3 4
(D) 2 1 4 3

Which one of the following tribal communities is not inhabiting central India hills and forests ?

(A) Gujjars (B) Bhils (C) Santhals (D) Gonds

What is the average density of the earth as a whole ?

(A) 2.7 gm/cm3 (B) 3.0 gm/cm3 (C) 5.5 gm/cm3 (D) 16.0 gm/ cm3
Which one of the following salts is maximum in oceans ?

(A) Magnesium chloride (B) Magnesium sulphate

(C) Calcium sulphate (D) Potassium sulphate

The Pennines (Europe), Appalachians (America) and Aravallies (India) are examples of
(A) Block Mountains (B) Old Mountains
(C) Young Mountains (D) Fold Mountains

Among the following rivers which river has maximum catchment area ?
(A) Narmada (B) Tapti (C) Mahanadi (D) Godavari

Among the following which group of states are famous for pulses crop production ?
(A) Assam, West Bengal and Sikkim (B) Madhya Pradesh, Maharashtra and Rajasthan
(C) Kerala, Karnataka and Andhra Pradesh (D) Haryana, Jarkhand and Himachal Pradesh

Which of the following rocks is not formed by fossils ?

(A) Coal (B) Shale (C) Limestone (D) Chalk
Alluvial soils are made by

(A) Volcanoes (B) Weathering

(C) Deposition by running water (D) Plants and Animals

Slash and burn agriculture is very significant in
(A) Himachal Pradesh (B) Karnataka
(C) Mizoram (D) Jharkhand

Where among these places, the sun will rise the earliest ?
(A) Rajkot (B) Surat (C) Ratlam (D) Solapur
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094. deigt (Prime Meridian) w14 gru sl atial Belig (idde Big) sai 20ag & ?
(A) Hedils nsmer (B) [REl uiaor
(C) s wsruor (D) Guar 24 48 4l
095. welouHl 2iq Gleclousl 2ot 3 9 ?
(A) 5122 RrRME BARIHS MR 21513 (B) $12¢ [Aeetizui Rtwens R 2u512)
(C) s12¢ [ArerHi 2anidRs oy 20513 (D) Guai U4l S dl
096. N2 U suL uBaui ¥ [@Qreiz-l Al ay 251 & ?
(A) Quseflu Gaauda (B) ulawnwe
(C) udwe (D) [BHiay uga
097. DA Brecuzila FarclEdizn [Qdei- Ae o qadl ydl sHHI aladl A0l [Asey i 2.
(A) 529, ogrloe, Aaley, sidL (B) sioL, waleL, ogruote, s
(C) e, i3, 529, %218 (D) g, sidn, el 59
098. ®RAA s xRt uRNg (ICAR) gt cudl ld 2l sielatiui aollgd sacunizudl 8 ?
(A) 6 (B) 7 (C) 8 (D) 9
099. MRaui D1 WA st Al Aol welell vidla el B ?
(A) uly sioun (B) AU (C) usR (D) swles
100. UL MM (35 wNHT Ddd yRdwuHl waiel (Coral reefs) iy ?
(A) 0°-5°C (B) 5°—10°C (C) 10°-20°C (D) 20°—30°C
101, GURATL AHIH Ylens sV HAAA 21 Al 6 AL sHImR-S-1-20lg A luaimi 2ue & ?
(A) ®udly sais en (B) cuzdla Al-d-u
(C) ecuadla-u (D) yieHs en sHIm
102, GURAHL auRI 2 UMY A2A el A S WA 8 7
(A) CuRell 02uld AadL Ysd 2iqoudl / siqouslail
(B) MIRAU AsMEL 2 (g5 g0l [ ol
(C) ¥[22s sl sus-l s3s2-S1-ls A Aysd 2120l / 2goullail
(D) Ul 2218+t a8t 28 Rysd 2gousll / Agondli)
103. clBarugul 3gam usg Glod w2 Al asAe] simAd) 8,
(A) ROSATOM (B) d28loL €18 (C) dilwu (D) R
104. 2l A gualla wovuni Rearals2e, Biri-uar susid, 2unRad 13 yrau [Rulae
Gl @) suoidl [R2 a0 suotdl-t diudu-n () 20s wiseed w3 - MEA) st [Qeuaq
adng ¢ ?
(A) D& ISAReuar  (B) E&SARwmL  (C) XPD [Reudt (D) UNP [Reuat
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094. The intersection point between Prime Meridian and zero degree latitude lies in the
(A) Atlantic ocean (B) Indian ocean
(C) Pacific ocean (D) No where in the above

095. Stalactites and Stalagmites are
(A) Erosional landforms in the Karst region
(B) Depositional landforms in the Karst region
(C) Transpirational landform in the Karst region
(D) None of the above

096. The Largest percentage of forest area in India is in which of the following regions ?
(A) Peninsular Plateau (B) Western Ghats
(C) Eastern Ghats (D) Himalayan Region

097. Select the correct option showing the following districts in the descending order in reference
to the distribution of forest area.
(A) Kutch, Junagadh, Narmada, Dang (B) Dang, Narmada, Junagadh, Kutch
(C) Narmada, Dang, Kutch, Junagadh (D) Junagadh, Dang, Narmada, Kutch

098. The Indian Council of Agricultural Research (ICAR) has classified the Indian soils into how
many categories ?
(A) 6 (B) 7 (C) 8 (D) 9

099. Which one of the states in India has the broadest continental shelf ?
(A) West Bengal (B) Gujarat (C) Maharashtra (D) Karnataka

100. Living Coral reefs occur in sea water with temperature of
(A) 0°=5°C (B) 5°=10°C (C) 10°-20°C (D) 20°-30°C

101. The Commander-in-Chief of which organization is entrusted to manage and administer all
strategic forces of India ?
(A) Indian Air Force (B) Indian Navy
(C) Indian Army (D) Strategic Forces Command

102. In India, the authority to release nuclear weapons for use resides in
(A) The President of India, or the designated successor(s)
(B) The Prime Minister of India, or the designated successor(s)
(C) The Commander in Chief of Strategic Forces Command, or the designated successor(s)
(D) Chief of Army Staff, or the designated successor(s)

103. The Kudankulam nuclear power plant in Tamil Nadu is built in collaboration with
(A) ROSATOM (B) Westinghouse (C) Toshiba (D) Areva

104. Which Division in Ministry of External Affairs (MEA) deals with all matters related to
Disarmament, Non-proliferation issues, Confidence & Security Building measures in regional
and multilateral fora ?

(A) D & ISA Division (B) E & SA Division (C) XPD Division (D) UNP Division
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105.

106.

107.

108.

109.

110.

111.

112.

uRHIY Al (B3R AR (NPT) 2202 uRu1g, u2izA 10 ) €ld 3 3 URHIY
Arle, AAA A uHY [A5125 W8 Ruin 214 [sle sl dla.

(A) 1 2yg2udl, 1963 udal (B) 1 oyudl, 1967 udal

(C) 1 Ay, 1995uden (D) 1 y2udl, 1998 udan

“3wy”” (Captcha) 2 QU 99,

(A) qaadAafsdla,  (B) @oiusl (C) viizulasiusl w2 (D) t9ofld) Qo
$aszidls aide (S-dldzu) saud 9.

(A) A 55522 wnshuid oirude Aidz (B) flwea dls oda alde

(C) 2xud /382 /3602 518 ysau wid-u didz (D) YRAAd §-ysagiled wdl ugl

MRa-l and dlwea asAd-u eel DA AR 54/ sui Rat / Rl waf /i d ?

(A) 28208 4, vsayR gt Rsmadia Wae -4 a8 w293 08 Duicur 25l awuna
Juifled

(B) stun curusdl wnafl evich 22l B 24 Rl Aner viowell Fd) 2ifis el S-228
25 yiul 8

(C) ¥ AR 2w 1R Y3\ Widal W2 dsacimi 2uda 9

(D) Gua+it dw

Joea Rodux 69,

(A) ¥ 53¢ R @R s3d) 5154 O

(B) HUSH 4l WRsd Aasiz) W2 Auani 2uddl QR 813 8

(C) yllrss ysam S-2r3umi dualg azfwa -2 A3u 8

(D) [Bre-2A2ad 2012 2uud)l 516Ul s ugli ©

HLE 11 HI2 quRLdl asg “NFC” Al ee{ g u

(A) d2as sikadla sela (B) Dz sles slayRdan
(C) Heas slsels s2la (D) q3ldla £lsals sixyRdaq
Assi Al .
A B

i- PKI a. Cyber-physical attack

ii- Bitcoin b. Hash

iii- Stuxnet c. Cryptocurrency

iv- Data Integrity d. Asymmetric Keys
(A) i-b, ii-c, iii-d, iv-a  (B) i-c, ii-a, iii-b, iv-d  (C) i-d, ii-c, iii-a, iv-b (D) i-b, ii-a, iii-d, iv-c
MIRA ARSI+ use “HeRly” 8.

(A) R 32 A-n s dlgedz 4

(B) iy HiRell ayeA vigurd QdRd saiBs suydlol Al-qiuziqa-d uys
(C) §-ordrru-it »uellse - [Rugidl-l aye

(D) 2ucRHl et 2oud]l 2 arauie uoudl Heq wufia yur snye:
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105.

106.

107.

108.

109.

110.

111.

112.

As per the Treaty on the Non-Proliferation of Nuclear Weapons (NPT), a nuclear weapon
state is one which has manufactured and exploded a nuclear weapon or other nuclear
explosive device

(A) Prior to 1 January 1963 (B) Prior to 1 January 1967
(C) Prior to 1 January 1995 (D) Prior to 1 January 1998
Captcha is used for

(A) Encrypting passwords (B) Steganography

(C) Checking for bots (D) Captures images

Electronic wallets (E-wallets) represent

(A) Wallets made from semiconductor material
(B) Wallets fitted with digital locks

(C) Wallets to put smart/credit/debit cards

(D) Mechanism for secure e-payments

Which is/are correct regarding National Digital Library of India ?

(A) Virtual repository of learning resources with a single window search facility developed by
IIT Kharagpur

(B) Designed to hold content of any language and provide interface support for vernacular
languages like Hindi and Bengali

(C) ltis being arranged to provide support for all academic levels

(D) All of the above

A digital signature is

(A) afile storing scanned signature

(B) a QR code issued for transactions through mobile devices
(C) avirtual payment address used in unified payments interface
(D) a cryptographic method that supports non-repudiation

The term “NFC” used for Smart phone refers to
(A) Network Forwarding Control (B) Near Field Communication
(C) Network Feedback Control (D) Negative Feedback Communication

Match the following terms:

A B
i. PKI a. Cyber-physical attack
ii. Bitcoin b. Hash
iii. Stuxnet c. Cryptocurrency
iv. Data Integrity d. Asymmetric Keys
(A) i-b, ii-c, iii-d, iv-a (B) i-c, ii-a, iii-b, iv-d
(C) i-d, ii-c, iii-a, iv-b (D) i-b, ii-a, iii-d, iv-c

The Government of India initiative “MeghRaj” is

(A) an agricultural data analytics software

(B) a set of distributed cloud computing environments following a set of common standards
(C) aset of principles for e-governance implementation

(D) asuper computer dedicated for weather forecasting and rain prediction across the country
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113.

114,

115.

116.

117.

118.

119.

120.

121.

SAsZUAs AL vl (EVM) i, VVPAT sl 25182 © ?
(A) Voter Verifiable Paper Audit Trail

(B) Verification of Voting People And Technology
(C) Volume Voting without Paper And Trail

(D) Very Verifiable People Added with Technology

Asi Al
A B
i. Payment Gateway a. Digital Literacy
i. PMGDISHA b. e-Kranti
iii. Digital Signature Certificate c. e-Commerce
iv. Electronic delivery of services d. e-Mudra

(A) i-d, ii-c, iii-b, iv-a  (B) i-d, ii-b, iii-a, iv-c  (C) i-a, ii-c, iii-d, iv-b (D) i-c, ii-a, iii-d, iv-b

s A DA VA 53 AR5 R i 23 & ?

(A) 2¥flA2 oflor+il Guala (B) arulis wisd 5128 adl Aads wlBui
(C) Yurllemioruag (D) arteulaui well ol e

“vuer AL g wlu 6 ?

(A) yd yeu uoal (B) =islel s34 yau uwdl

(C) RAasrs =Nl dla AR 3MRs W (D) Qaig-rit AR B~ 1 AlF2e0 Ao

DA VA sl 2iysd A+l Fald[Qudr - gas (UN — Decade on Biodiversity) € ?
(A) 2011 —2020 (B) 2016 —2025 (C) 2014—2024 (D) 2005—2014

Falafdudr “glieyile” xed g ?

(A) ‘a2 ARG A48 203 247 e st dell2 2 - A oid aaBisdivdail
epdienlaulE s axt

(B) Blaa diumist 18-l wauai il %o [

(C) arteuld 2 3usll Y-l 2kl nomldziianal osanomyell [z

(D) Gur-LUA &S ]

URetr o RRIHE L2 U 54l A2 2o ualaRBidg %en 24 YaiRew sl 21 ol wA
QAruaivil 2818 5l tioAdL ¢ ?

(A) 214269¢ 47 A (B) A429¢ 48 A (C) xqxu98 49 A (D) 3¢ 50 A
“orey Aofl Algin” sl drall g well-u gl i © ?

(A) si2d2a (B) ues2 (C) 2uARs (D) -ude
GARV, UDAY i1 TARANG ®ii2d 4251+ $uL Hoaud uda 6 ?

(A) Y Huau (B) -t el Huau

(C) Gof H-nau (D) [ 24 (S sea dzneau
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113.

114,

115.

116.

117.

118.

119.

120.

121.

In Electronic Voting Machine (EVM), VVPAT is an acronym for
(A) Voter Verifiable Paper Audit Trail

(B) Verification of Voting People And Technology

(C) Volume Voting without Paper And Trail

(D) Very Verifiable People Added with Technology

Match the following terms :

A B
i. Payment Gateway a. Digital Literacy
i. PMGDISHA b. e-Kranti
iii. Digital Signature Certificate c. e-Commerce
iv. Electronic delivery of service d. e-Mudra
(A) i-d, ii-c, iii-b, iv-a (B) i-d, ii-b, iii-a, iv-c
(C) i-a, ii-c, iii-d, iv-b (D) i-c, ii-a, iii-d, iv-b

Which of the following can be an ethical concern in the area of agriculture ?
(A) Use of terminator seeds

(B) Allergic reaction caused by transgenic crops

(C) Creating super weeds

(D) Introduction of animal genes into plants

‘Edible Vaccines’ contain

(A) Dead microorganisms

(B) Attenuated microorganisms

(C) Antigenic proteins devoid of pathogenic genes
(D) Antibodies against antigens of pathogens

Which of the following is UN — Decade on Biodiversity ?
(A) 2011 -2020 (B) 2016 —2025 (C) 2014-2024 (D) 2005-2014

What is bio-diversity hotspot ?

(A) A biogeographic region characterized both by exceptional level of plant endemism and by
serious levels of habitat loss

(B) A smaller area of forested area with high temperature

(C) An area of volcanic, having few flora and fauna species

(D) None of the above

Which of the following Article in Indian constitution is related to protection and improvement
of the environment and safeguarding of forests and wildlife of the country ?

(A) Article 47 A (B) Article 48 A (C) Article 49 A (D) Article 50 A

‘Blue Baby Syndrome’ is caused by the contamination of water with which elements ?

(A) Phosphates (B) Sulphur (C) Arsenic (D) Nitrate

GARV, UDAY and TARANG are initiatives of which ministry of the government of India ?

(A) Ministry of Defence (B) Ministry of Information Technology

(C) Ministry of Power (D) Ministry of Agriculture and Framers Welfare
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122.

123.

124,

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

5188 5180 a2 MU HR C-DAC 31 25 s Regyes 1A vitut wlaf 242 Rsauieil
Opfum 8,

(A) day (B) Wugd (C) tirwu (D) tugd
Asal so1a sUESISS W auu .
(A) o2z A 2l Griudl ARR (B) sz uid A52u
(C) sl d N3z (D) 2ARM w14 25l
“Googol” € ?
(A) ud A (B) s -l 9jeR (C) sull Al and (D) [agsll Grasloidlu esis
“@RlRe, 4 onsRion” Sl AR Hausie © ?
(A) [yw siaoie AU Gart (B) stwsr 215012 Aoped
(C) s1@wdou Ay Geur (D) gaaaa: Aod
(Qsunll cisBradr 2 DA UL sul Y42 2yaimi 2ud 8 ?
(A) BudLA 2idlé (B) AAMd 2ials (C) Aoy (D) yrsl sellou 2idl{
SR2zy2 2iig Al AAA Hs 25Ul sui 2udell O ?
(A) AdlRed) (B) Wil (C) Al (D) §o$
NIHONIUM, MOSCOVIUM, TENNESSINE 1 OGANESSON 8.
(A) -l uelaen s A asl (B) idl artauld woaldaAl
(C) GpzrruAlY bt-ucil (D) uadsiesui da drel

yed) 241 yulaRe (vu s3AA 42a x1 Reda gen) a2 dralld wlReue st el s
53 .

(A) @aRuulBsas  (B) Aualds uas (C) B[Qsas (D) oudl 2030MAs a5
wRélsiHalaL (Osteomalacia) 2oL sut [Pl Gerudll e €9 ?

(A) @Qawn B12 (B) [@aw D (C) Rald+ E (D) [Qafa+ C
Daqu UA sul A2 “audl A7 (Royal Disease) dls gl €9 ?

(A) Risada B (B) sgmsuR (C) dslau (D) a1 viuc

Uells agt AR SAA (ISRO) Wl A WA @R @llr AL dRAdg A2 AR 54 8 ?
(A) PSLV (B) GSLV (C) ASLV (D) GSLV Mark Il

GLONASS sid 2tassfl eloifas 2ialus 4ax d- (Space borne navigation constellation
system) ¢ ?

(A) A (B) yrlu (C) Afi1 (D) s~
Sl el WA ®HIRA, - YA, UL AYSd AU BIR RS2 WFs2 UL 8 ?
(A) DESDYNI (B) RISAT (C) NISAR (D) RADARSAT
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122.

123.

124,

125.

126.

127.

128.

129.

130.

131.

132.

133.

134.

The C-DAC has developed a comprehensive free and open source suite for setting up a
cloud computing environment named as

(A) Meghraj (B) Meghdoot (C) Barkha (D) Badal
Double fortified salt is used to prevent

(A) Goiter and iron-deficiency anemia (B) Goiter and Rickets

(C) Scurvy and Rickets (D) Anemia and Scurvy

What is Googol ?

(A) Search engine (B) Atype of gum

(C) Ten raised to the power of hundred (D) Exotic subtropical plant

‘Bhoor Singh The Barasingha’ is the official mascot of

(A) Jim Corbett National Park (B) Kanha Tiger Reserve

(C) Kaziranga National Park (D) Dudhwa Tiger Reserve

Which of the following award is given for popularization of science ?

(A) Aga Khan Award (B) Abel Award

(C) Man Booker Prize (D) UNESCO Kalinga Prize

Institute of Nano Science and Technology is located in

(A) New Delhi (B) Mohali (C) Cochin (D) Mumbai
NIHONIUM, MOSCOVIUM, TENNESSINE and OGANESSON are

(A) New Planets orbiting sun (B) New Plants species

(C) Geological events (D) New Elements in the Periodic Table

The natural cycle that circulates elements between the earth and the environment (particularly
between living and non-living matter) is called

(A) Biogeochemical cycle (B) Chemical cycle

(C) Biological cycle (D) Bioorganic cycle

Osteomalacia disease is due to the deficiency of which vitamin ?

(A) VitaminB12 (B) Vitamin D (C) Vitamin E (D) Vitamin C
Which of the following is known as Royal Disease ?

(A) Sickle Cell anaemia (B) Alzheimer's disease

(C) Haemophilia (D) Colour blindness

Which of the following rocket launchers of ISRO has the heaviest launch capability payload
weight wise ?
(A) PSLV (B) GSLV (C) ASLV (D) GSLV Mark lli

GLONASS is the space borne navigation constellation system of
(A) Russia (B) Europe (C) China (D) France

Indo-US joint collaborative Radar satellite project currently underway is known as
(A) DESDYNI (B) RISAT (C) NISAR (D) RADARSAT
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135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

D144 euza-d wau (Multi-wavelength space observatory) & ¢d) ?
(A) W 2iiRefle: Hat (MOM) (B) sttt — 1
(C) »i2id2 (ASTROSAT) (D) 2ulgen — L1
“Rar-2lRsA” (Megha-Tropiques) A s 6l 22 a2l asuldll AdawSz wiwsz & 2
(A) ®Rd 24 g2, (B) Mikd x40 (C) mrd i awd (D) GURd - s
Blod Hotea w16 dung dollsa adg 8 An R 5<€) siA 3 B u-L 54 WBSIRIAL

% 2888l drdllsa adg €.
(A) 30 % (B) 25 % (C) 20 % (D) 10%
-l Gooradl Al (PMUY) R0 A4 s 5144 dldtgist iy i 6 7
(A) el @iyl adler Al LPG syt wisa
(B) auslw 28810l ovollsa
(C) LED tietig [daal
(D) Guari dwin
el 2ualor APAIR, MURANE QRS 24 Al Aol giaL ga dlorll-u Sean 251 [Qarull-) Guedlal
sMi 2ud 9 ?
(A) 29 % (B) 26 % (C) 24 % (D) 22 %
MURAHL HAH CNG 2 st Rut i eid 8 ?
(A) 3l - Akds (B) yrt-4oud (C) RBedl-uud (D) A~ - wgus§
M4 2016 A Fy2udl 2017 g3 cuRd DA WA s wisiell 2alA 202 5,798 Mldus
ylle (ol s 508 ?
(A) dun, wlEdin, sidaza (B) Awitn, ycir, tidagal
(C) wn, slleist, uilBzein (D) Awn, sidaIgaL, RAHHIR
3[%a Yol aauldl dellat A (Central Soil Salinity Research Institute) o JaRiduiuels
3rs sl 2044 S 7
(A) SuardR (B) ™3 (C) daan (D) Yyt
@URAL uaH yufid e Guas sA 8 ?
(A) GSAT-7 (B) GSAT-9 (C) MSAT-1 (D) CARTOSAT
DRDO 4121 [Asuda sau1 usteei [Quina “[Rglia” w2 2ue 8 2
(A) Light Combat Aircraft (LCA) (B) Unmanned Aerial Vehicle (UAV)
(C) Light Combat Helicopter (LCH) (D) Surface to Air Missile (SAM)
A2r1a VU W B SAUSHR Aropeil E2UAY AR MIRAHL AR 2R St uu wwdl
AlUHLHI QHIRl 2l €9,
(A) Sl uflui0.4°C (B) ¢cllyjxy ERsHI 0.4 ° C
(C) e vix eusHi0.8°C (D) Vel ulmi0.8°C
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135.

136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

Which of the following was India’s first multi-wavelength space observatory ?
(A) Mars Orbiter Mission (MOM) (B) Chandrayan-1
(C) ASTROSAT (D) Aditya-L1

“Megha-Tropiques” is a collaborative satellite project between which countries ?
(A) India and USA (B) India and Russia (C) India and Japan (D) India and France

As per the Ministry of Power, for a village to be considered electrified, what percentage of
its total number of households should be electrified ?
(A) 30 % (B) 25 % (C) 20 % (D) 10 %

Pradhan Mantri Ujjwala Yojana (PMUY) is meant to contribute to which one of the following
tasks ?

(A) Providing LPG connection to poor women in rural area

(B) Electrifying rural households

(C) Distribution of LED bulbs

(D) All of the above

As per NITI Aayog, which percentage of the total electricity is consumed by residential and
commercial sectors in India ?
(A) 29 % (B) 26 % (C) 24 % (D) 22 %

India’s first CNG train runs between which two stations ?
(A) Rewari-Rohtak  (B) Pune-Mumbai (C) Delhi-Sonepat (D) Chennai-Madurai

During April 2016 to February 2017 India has exported around 5,798 million units of electricity
to which of the following neighbouring countries ?

(A) Nepal, Pakistan, Bangladesh (B) Nepal, Bhutan, Bangladesh

(C) Nepal, Sri Lanka, Pakistan (D) Nepal, Bangladesh, Myanmar

Where is the regional station of Central Soil Salinity Research Institute located in Gujarat ?
(A) Bhavnagar (B) Bharuch (C) Verawal (D) Mundra

Which is India’s first dedicated defence satellite ?

(A) GSAT-7 (B) GSAT-9 (C) MSAT-1 (D) CARTOSAT
Nishant is the name given to which type of aircraft developed by DRDO ?

(A) Light Combat Aircraft (LCA) (B) Unmanned Aerial Vehicle (UAV)

(C) Light Combat Helicopter (LCH) (D) Surface to Air Missile (SAM)

According to the document on National Action Plan on Climate Change, mean surface air
temperature in India at the national level has increased by

(A) 0.4 ° C over the past century (B) 0.4 ° C over the past five decades
(C) 0.8 ° C over the past five decades (D) 0.8 ° C over the past century
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146.

147.

148.

149.

150.

151.

152.

153.

154,

155.

156.

@R 5L AMS el YA, Uere [z usn dfela sia adl ?

(A) 3. 2R 3. WAasR (B) <L 3. sxgildoim

(C) 4. ol 3. ousSiai (D) 3t edl uue 94l

54U AL W2 AYUSH g1 3u8d 24 CSIR g1l BGR — 34 gola $lydan Rsuda § ?
(A) srulidln (B) siaixdl o (C) wudasily (D) AN

Risun 2 el Qoo s sidsd Ssn WARS 21 Wiy 200U dHY Y ALl 1A
stz el srtiens 51308 Gu dioy 2R el 2030 GuR dsulRs Aalldn s 4 ?
(A) SATYAM (B) VYAYAM (C) PRANAYAM (D) Gu-u 4l sisS 4l

Fua- Al afd-n Rusil wud, suR Guass ydldl ay 195 dani ud 8, el d-dl
AU
(A) 488 (B) a2 6 (C) uxslle ® (D) g1 4 usiu

Rsurt 21 NelBiA Al wildzazy He-ior Adls DA-u WA &S e drgdl 2uuami ud 6 ?
(A) Council for Scientific and Industrial Research

(B) Indian Institute of Science

(C) University Grants Commission

(D) Defence Research and Development Organization

aRadl [Alre sarun Guagil (Exclusive Meteorological Satellites) Slellui uddl Guus
9169 ?

(A) INSAT-2 (B) GSAT-18 (C) GSAT-10 (D) KALPANA-1
A UEIAUA 2017 — 18 ui DA UA su1 &3 oflog s7 Al atR s1nasl Aad) 8 ?
(A) 28 [asa (B) Qi (C) 2zl @sin (D) 2uRiou

ornd w51 ATMA (Agriculture Technology) dios-itit DA A 531/ sui S/ Sq2AL D ?

1. @ wuadld [Qrqre usiasg (Broad based extension delivery)

2. old walsal f 42441 (Gender Concerns)

3. &l Ayl [Adre uglizil (Multi Agency Extension Activities)

4. avilaefl 2019+ (Bottom up Planning)
(A) %54 2 (B) 1942 (C) 1,213 (D) 1,2,3311 4
64 ML ANY [Fen AASH] 201741 DA WAL 56 ol Bed s Gl el 2dlS @il
Sl ?
(A) as ¥dl (B) uldula (C) Ar s Ay (D) dedl Rau

arRuaril el (31 nau vigiri (A5 We diBdui Aaud HasH 6ild si-l wd amegdl
5317

(A) A2AUWE (B) sk W (C) Wirdluawd (D) BuuA SIS 4l
Y%Al U1 GIRL “HHAL G L DA WA sl @2 Adl ?
(A) HudL Hausid (B) uudi-ly (C) Huete™ (D) HudL 56U
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146.

147.

148.

149.

150.

151.

152.

153.

154.

155.

156.

Which Indian scientist successfully took up the crusade against the US patent on turmeric ?
(A) Dr. R.A. Mashelkar (B) Dr. K. Kasturirangan
(C) Dr. B.K. Gairola (D) Dr. Devi Prasad Shetty

CSIR has developed BGR-34 herbal formulation that has been approved by AYUSH for
which disease ?
(A) Diabetes (B) Coronary disease (C) Arthritis (D) Anaemia

Which programme under the Department of Science and Technology will conduct scientific
research on the effects of yoga and meditation on physical and mental health and on cognitive
functioning in healthy people as well as in patients with disorder ?

(A) SATYAM (B) VYAYAM (C) PRANAYAM (D) None of the above

According to Keplar’'s laws of planetary motion, the speed of satellite, when progressively
brought nearer to earth
(A) Increases (B) Decreases (C) Remains same (D) Cannot be estimated

Shanti Swarup Bhatnaghar Award in the field of Science and Technology is given by
which of the following organization ?

(A) Council for Scientific and Industrial Research

(B) Indian Institute of Science

(C) University Grants Commission

(D) Defence Research and Development Organization

Which is the first in the series of Exclusive Meteorological Satellites of India ?
(A) INSAT-2 (B) GSAT-18 (C) GSAT-10 (D) KALPANA-1

Which of the following sectors received second highest allocation in Gujarat Budget
2017-187

(A) Urban Development (B) Education

(C) Tribal Development (D) Health

Which of the following is/are the objectives of ATMA (Agriculture Technology Management
Agency) scheme of Gujarat Government ?

1. Broad based extension delivery

2. Gender Concerns

3. Multi Agency Extension Activities

4. Bottom up Planning
(A) Only 2 (B) 1and2 (C) 1,2and 3 (D) 1,2,3and 4

Which of the following Gujarati Film won best feature film award in 64" National Film Awards
20177

(A) Thai Jashe (B) Polam Pol
(C) Wrong Side Raju (D) Chhello Divas
The Gujarat Maritime Board recently concluded an agreement with to

develop new ports in Gujarat Coastline.
(A) Rotterdom Port  (B) Chabrahar Port (C) Montreal Port (D) None of the above

Which of the following is not a component of Mamta Abhiyan by Government of Gujarat ?
(A) Mamta Mulakat (B) Mamta Nondh
(C) Mamta Sandarbh (D) Mamta Kalyan

CSP-02 - A 31 P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


157, AAAHL AR 2Ald2l 247 AR oldil 22 75 Sze [Amuet HalddRl AuHd
M 2L 8 ?
(A) 134 27 (B) 13428 (C) 140425 (D) 1544 26
158. @uRdrl Al wg1d BCCI A udidal w2 1s adlazeril 1@ (COA) - 54 8.
Qi1 LA Sl COA -t uou <4 ? .
(A) 3iA-L AgH2 (B) [a-ie
(C) uns I8l (D) 2. 2. [Au-uas
159, a4l astiaid uRist ALl e hesau 2an uz AR Yads “Udlsl” o Rlluet
5 &, 2 Yaeisrl Auis Slay g ?
(A) R 2 (B) Y[ou usio (C) R sad (D) oy ty2s
160. lla- U4 su1 1d21 yAzsl aed oy 3lled 2018 413 Mysd s2cuni 2ued ?
(A) s (B) AAd-ay, (C) [aroan (D) H{s
161, MR 541 HAH AAYA S22 Guaodlq (Access to internet) YUNid Hidld 855 adld el
sal 69 ?
(A) voan (B) aulhia-ug (C) s (D) uismea
162. =48t [Bau-i Gena “Yedlant -l §22 2017 ** o wucllopt sui s2cuui 2 ¢ ?
(A) daeidl (B) idl(eedl (C) 210RRd4 (D) 2*glue
163. ay 2016-17 W2 sui (dordl)-l agnu 251l cua g & ?
(A) 3L4160 (B) 3L4900 (C) 3.5160 (D) 35900
164. %%y 2t SRR s 0dla el uR Al aioll Aud-uadl A3 e W22y 2qa)d
Rula s2cumi 2u & ?
(A) NH 44 (B) NH 45 (C) NH 46 (D) NH 47
165. dlBdHl EPF 24l 85t -t U st aof-l arudel sear wid) menme ssaudl @R
232 gIRL suML 2ud) ?
1. vl s
2. ASHA siis2l
3. ueyg Ml 5153
4. uized [Geudu s1dsd
(A) §5d 1 (B) 854142 (C) 541,224 3 (D) 1,234
166. 5 U5 uia adAui Agla 213 flosa-u cndl B H1RQ Yarawd 158l s3a 8. 1A A4 su
A8+l d wElHi uxd adl 44l ?
(A) WA (B) Geuyr (C) oguiley (D) yu
167. GURAHIALWR52 3 & ?
(A) sailRseu Iqqua-e Retst
(B) yactutot gieSd Ml szu-ll oIt 23cizil W2 Vs 699 P52
(C) €12l Asdll 51251
(D) Gu-UA 816 =l
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157.

158.

159.

160.

161.

162.

163.

164.

165.

166.

167.

How many assembly constituencies are reserved for scheduled castes and scheduled
tribes respectively in Gujarat ?
(A) 13and 27 (B) 13and 28 (C) 14and 25 (D) 15and 26

The Supreme Court of India has constituted a Committee of Administrators (COA) to
run the BCCIl. Who among the following is not a member of COA ?

(A) Diana Edulji (B) Vinod Rai

(C) Ramchandra Guha (D) G.R. Vishwanathan

Prime Minister recently released a book “Matoshree” based on life of Martha queen Ahilyabai
Holkar. The book is authored by
(A) Anita Desai (B) SumitraMahajan (C) Smriti Irani (D) Jaya Bachhan

Which of the following cities has been designated as UNESCO World Book Capital 2018 ?
(A) London (B) Athens (C) Lisbon (D) Madrid

Which is the first Indian state to declare access to internet as a basic Human Right ?
(A) Punjab (B) Tamil Nadu (C) Kerala (D) Andhra Pradesh

The three days festival “Destination North East 2017” was organized in
(A) Guwahati (B) New Delhi (C) Agartala (D) Chandigarh

What is the minimum Support Price of Cotton (Long Staple) for the year 2016 — 17 ?
(A) INR 4160 (B) INR 4900 (C) INR 5160 (D) INR 5900

The Chenani- Nasri longest road tunnel (Patni top Tunnel) constructed in Jammu and Kashmir
along the National Highway
(A) NH 44 (B) NH 45 (C) NH 46 (D) NH 47

Which of the following sections were recommended by Employee Provident Fund
trust to cover under EPF scheme recently ?

1. Anganwadi Workers

2. ASHA workers

3. Mid Day meal workers

4. Postal Department workers
(A) 1 only (B) 1and 2 only (C) 1,2and3only (D) 1,2,3and4

Central Government decided to revise petrol and diesel prices on daily basis in five
cities, which of the following city is not in the list ?
(A) Pondicherry (B) Udaipur (C) Jamshedpur (D) Pune

What is Bharata Mala Project ?

(A) A Floricultural Development Mission

(B) An Umbrella Programme for roads in place of existing highway projects
(C) Arriver linking programme

(D) none of the above
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168.

169.

170.

171.

172.

173.

GURA ARSIR GIRL A3 SAAUHL AR “HUEL” (SAMPADA) diogeil $8 siioid 23l 8 ?

(A) viRs (B) &3 Al (C) Aefuia (D) Riawt

(A2 2uR1oy [Bar €2 AN 7 ) AR A% Hrtacui 20d 8, 2017 - [ 2uRloy Bau-) Rvy-
A, (Theme) g 8l ?

(A) Cancer: Stop Tobacco (B) Diabetes: Let’s walk
(C) Depression: Let’s Talk (D) AIDS: Let’'s AID

il 282 s34 AU 2014 Al (NHP) o8 20104 Wi 204 (GDP) 1 3241 251 a4l
H2HL WRella 8 ?

(A) 814U 1.2% 9l 2.5% (B) 814U 2% 9] 3%

(C) 814+t 1.8% A 2% (D) 814 2.2% ) 3%

“W”  MAA (Mother Absolute Affection) stelsH- tites AR a3 DA YA s Augis
suMl 2d) €9 ?

(A) s3usy2 (B) Slual (C) 32u3s (D) *uydl Ealla
auRdl A aioll Aaen eRaue et [ 4 @9 $9 (decommissioned)
Bl 20 8 i Al Rttt YoaniA A 2auni e 9.,

(A) TU 142M- aiamgal (B) TU 142M- 2Rz

(C) MU 142T- qeduen (D) MU 142 T- yzd

28l ALt 2 [ 2o (DRDO) SWATI - 2aifd -un-ll waudl [Qsudl 9. »u sumd
DA WA 5 / sun [Quiq / [Qandl 0] / i & ?

1. d QA s 20 A weudl 9,
2. d azuy 2312 weud) 9,
3. d wgdll Ad [Asuddl wsudl 8.

4. d A Yud sl wudl 8,

(A) $5d 1,3 %4 4 (B) $5d 1 x4 (C) $5d2,3u44 (D) $5d2 %4

174, SIAHI UMY YRAEL AR %A (Nuclear Suppliers Group) Hi 32a1 3% ueu 8 ?
(A) 32 (B) 44 (C) 20 (D) 48

175, AlBdHl . Au.. 2 vsa[Adl- N2 BUR “HYR ¥il$ il ollY” (GBU-43/B) vl
(A) sumun (B) #i2 (C) sdlu (D) "reRr

176. ABdHL I Aid]AU Gof A==l (International Energy Agency) IEA |23, 2016 -
o 12 [Aui euRdsl Blod quladl (Energy consumption) sul 54 € ?
(A) oflog Alell ay Bulsdl (B) Al dlefl ay, Gueiisdl
(C) el Wl ay Gueilsd (D) uiuwi Al ay Gueiisdl

177, i3l A1 U4 sui edl Aell ay [QAaneg siueR na, “sisar’ e 59 ?
(A) 2iysd e wflaid (B) el 2R6lla (C) $qiR (D) g4l

178. DA UL s ol 22 Ysa qagsdl s, “wviRMIdL Al 20117 (Sagarmata Friendship 2011)
S 43 ?
(A) auRd - glleis (B) Awn -l (C) Aw - ¢Rd (D) ®URd - tidaI2A
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168. The Government of India is to launch ‘SAMPADA’ scheme, it is concerned with
(A) Mining (B) Food Processing (C) Housing (D) Education

169. The World Health Day is observed every year on 7t" April. What was the theme of 2017
World Health Day ?
(A) Cancer: Stop Tobacco (B) Diabetes: Let’s walk
(C) Depression: Let’'s Talk (D) AIDS: Let’'s AID

170. The newly announced National Health Policy (NHP) proposes to raise public health
expenditure as a percentage of GDP
(A) From the current 1.2% to 2.5% (B) From the current 2% to 3%
(C) From the current 1.8% to 2% (D) From the current 2.2% to 3%

171. Who among the following is appointed as a brand ambassador of MAA (Mother Absolute
Affection) programme ?
(A) Kareena Kapoor (B) Aishwarya Rai (C) Katrina Kaif (D) Madhuri Dixit

172. The Indian navy long range maritime patrol aircraft has been decommissioned
and handed over to the Chief Minister of state.
(A) TU 142M — Andhra Pradesh (B) TU 142M — Orissa
(C) MU 142T — Telangana (D) MU 142T — Guijarat

173. The Defence Research Development Organization (DRDO) developed a system called
“SWATI” consider the following in relation to it
1. Itis a ballistic defence management system
2. Itis a weapon locating radar system
3. ltis indigenously developed system
4. It has been handed over to army
(A) 1,3 and 4 only (B) 1 and 4 only (C) 2,3and4 only (D) 2and 4 only

174. How many countries are members of Nuclear Suppliers Group at present ?
(A) 32 (B) 44 (C) 20 (D) 48

175. Recently USA dropped ‘Mother of All Bombs (GBU-43/B)’ on
province of Afghanistan.
(A) Bamyan (B) Ghor (C) Kapisa (D) Nangarhar

176. India has joined International Energy Agency (IEA) recently. What is the level of India’s
energy consumption in the world for the year 2016 ?
(A) Second largest consumer (B) Third largest consumer
(C) Fourth largest consumer (D) Fifth largest consumer

177. Which of the following countries recently abolished the most controversial labour system
called ‘Kafala’ ?
(A) United Arab Emirates (B) Saudi Arabia
(C) Qatar (D) Bahrain

178. Which of the following two countries jointly conducted military exercise called
“Sagarmata Friendship 2011” ?

(A) India — Sri Lanka (B) Nepal —China
(C) Nepal —India (D) India —Bangladesh
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179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

D0 U4 53 A2euS sudile 2ysa e dlow AQ Ay o0 ?

(A) RiouyR s - 212w (B) Slasie - $2 w1

(C) ¥z i - S(3d0 (D) R 2l - 2121 4w
RatHR A0 WA 53 o AN YaelHig adqizamn s 8§ ?

(A) sl (B) s~ (C) sris (D) i

QA U4 54 29 BIMSTEC L ey Aol ?
(A) wsars (B) naR (C) st (D) @it

AL UL 56 GUCAA HIRA U1 GIRA U “Slovsue”’ (Digishala) A susid il «d) ?
(A) d SAs2UASU 2 SrguA 251l HALAU GIRL YsUHL 2u 8,

(B) A Rz crawiald 2uat quiaen il s ay wag 9.

(C) a [Qafdenadl W2 24 scus 2>ens a0l yauud 8.

(D) 21 A daaan greel arl asl.

“BuL€ls agws” (Per Drop More Crop) 2 §i+i) auidlau a8 ?

(A) MNREGA gstq aisuduons R 3 (B) NABARD gst yau [Rius 83

(C) NABARD gstif aiououtud [R=us &3 (D) Burrt U 51 el

2idARZY 2 (AR S R gL G 58 alZA “wlRBS 257D AFd s 2udl & ?
(A) Moy R (B) L. 4. G (C) M Bivs (D) . AHRIg

2016 it [3ouell YRl 2R, Al vid i [aa
2fl 23 8.
(A) 0.5°C (B) 0.25°C (C) 1°C (D) 2°C

ydlaAlus sl (Global warming)

dyRld Sr2anand s 25 - WA (GIFT — City), AR vid Hinig oy gl

(Consulate office) wiariiz uax 2o 41 & ?
(A) dinfRa (B) 24 (C) aileyun (D) y2iua

5 avui 6o secle] ud Nzl acund W unfid 39d aamdl §34 g un 2unani
ey 89 ?

(A) 238 uamd Axd §3 (B) 3¢d s3Hud AHA 3

(C) & yaau »d sla (D) WU 3 w8 sl

asmart viagdl dsu-ll s cueidl- 32 afla sa aui 13e - 3 usgl Sdsdls
Wi s2ul A HoR s4 O ?

(A) widansal (B) et (C) Aun (D) walza
onofletl AR d2uad sun Faasdl Al [Qeun Saal 68 ?

(A) GuasRoiflu ooral (B) uugldiva ofoial

(C) Wy Pl (D) siggn %ol
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179.

180.

181.

182.

183.

184.

185.

186.

187.

188.

189.

Which of the following Airline Companies joint ventures are incorrectly matched ?
(A) Singapore Airlines — Tata Sons (B) Ethihad — Jet Airways
(C) Air Asia — Indigo (D) Air Asia — Tata Sons

Which of the following state of Myanmar is considered as native place of Rohinghya Muslims ?
(A) Kachin (B) Kayin (C) Kayah (D) Rakhine

Which of the following country is not a member of BIMSTEC ?
(A) Thailand (B) Malaysia (C) Sri Lanka (D) Bhutan

Which of the following feature is incorrect about GOI proposed ‘Digishala’ channel ?
(A) Launched by Ministry of Electronics and Information Technology

(B) Itis another step to push digital transactions

(C) It provides 24 hours online classes for Universities

(D) This channel would be managed by Doordarshan

‘Per Drop More Crop’ is the key goal of

(A) Long Term Irrigation Fund under MNREGA
(B) Micro Irrigation Fund under NABARD

(C) Long Term Irrigation Fund under NABARD
(D) None of the above

Which Indian personality has been honored with the Olympic Order by the International
Olympic Committee ?

(A) Milkha Singh (B) P.T. Usha (C) Abhinav Bindra (D) N. Ramachandran
According to Kigali Amendment of 2016, the world can avoid up to of global
warming by the end of the century.

(A) 0.5°C (B) 0.25°C (C) 1°C (D) 2° C

Which is the first country to open an honorary consulate office in Gujarat International
Finance Tec-City (GIFT City), Gandhinagar ?

(A) Tanzania (B) China (C) Belgium (D) USA

The dedicated railway safety fund for passenger safety to be created in 5 years is named as
(A) Rail Safety Reserve Fund (B) Railway Accident Mitigation Fund

(C) Rail Suraksha Arth Kosh (D) Rashtriya Rail Sanraksha Kosh

The cabinet committee on economic affairs, chaired by the Prime Minister has approved
investment in Arun-3 Hydro Electric Project in which country ?

(A) Bangladesh (B) Bhutan (C) Nepal (D) Maldives
Amazon Basin of Brazil has the largest expanse of which forest ?

(A) Tropical Forest (B) Temperate Forest

(C) Monsoon Forest (D) Coniferous Forest
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190.

191.

192.

193.

194,

195.

196.

197.

198.

199.

200.

[ o3 Q2] ARz FAHL — | (NW — 1) 4l arndiadi- w2 dlt HoR 53 6.
(A) asryoi A€l ela-yell ugl (B) ulau siounui sz 214 Grueuni arigiil
(C) U™ Bettel Rectnt- ABR3AS ud (D) Gur-it U4l 518 «dl
Alus s16{4 Grigl 2uidve v W2 A gt 215 Guas ysami 2. 2 Guasy un
8.
(A) Tan Sat (B) Con Sat (C) CC Sat (D) BGuru 4 56 )
AR 56 6l MRAlU 1€)2A @dd AlF ddl3 nd2 sauui 2udl & ?
(A) d0ou - uRadl (B) ofow - uyyriy (C) Bwn-gad (D) +er-andl
20R.60L2u8. (RBI) gl dl-u duig A a1 2 scumi 2ud) 9,
(A) [aylas2w (Demonetization) (B) musiz Y& (Cyber Security)
(C) alnslld (Loan Waiver Policy) (D) Gua A 46 «dl
DA WA s 28 Bl [Bg A Brer, 2017 v 84 ?
(A) ®uRd (B) dua (C) wlzeur (D) siidauga
cRdll Aidulzu ~ua-l vgradui A4 WA su1 afld sacpinn otanl Suui Guld el ?
(A) Y54 Asadll (B) 2 Beuall (C) sRu e (D) alazz
YR dl Aalds Al w-l d.xAu2u2. yarelay uAfA same s 8 3 Riae Guadl wy
GDP L 1ML it ayRdl A,
(A) 5% (B) 6% (C) 7% (D) 8%

AR S5 Wl i AT H2 A (NAPCC) 860 Rairied [Rar 12 Al S[Ru S5t cura-l

d- o [draiui [Alaun 5230 atiRl sl 2y 9,
(A) 2 (B) 3 (C) 4 (D) 5

aURdld U i FNAR GO AA wgsHd GDP-L 2 §N GDP UE 52 6.
(A) 65%,11.5%  (B) 35%,715%  (C) 24%,65% (D) 1.1%,5.15%

2L Wl 54 [Qrint 3rseil 18R Asetl AsHA “H8IARe” A3l et w2+ ddudr euid 9 ?
(A) Bear3 au garu 31 5,000 s134) aysl 52 Uil A s Avs) 481

(B) Bean 3 anl g3 3. 10,000 521380l Ayl 52 uedlell au alfls 2wl 81

(C) &een 5an g% 31. 5,000 5134l ayil 52 ueSlHl AU s vl 81

(D) Becn 5 an gaRun 31 10,000 53134 ayril 52 WSl AU s vl 451

aralds Rz 3vi ouotd DA WA & / s Qe [ [Qened i /i 6 ?
i 2 GURA A1 WilBdit gL [RRfia seur-u el a2l aesdl [Rdaw vu ©.
i, 2 o3 A ST Rl [RetRlA, 21508 Aell 2o wisdl aesdl A .
iii. 2 2R 776 AL @ioll 8.
iv. d ueusl qesl gL AHilEd 2da o,
(A) 5di (B) &5 i (C) & i, iil, iv (D) &5d ii 24 il
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190.

191.

192.

193.

194.

195.

196.

197.

198.

199.

200.

The World Bank has approved loan for capacity augmentation of National Waterway | (NW-I)
between

(A) Sadiya — Dhubri Stretch of Brahmaputra River

(B) Haldia in West Bengal and Varanasi in UP

(C) Kollam — Kozikode Stretch of West Coast Canal

(D) None of the above

China has launched a satellite to monitor global carbon emissions, the name of the satellite is

(A) Tan Sat (B) Con Sat (C) CC Sat (D) None of the above
Which two India’s rivers were declared as living entities recently ?

(A) Ganga — Saraswati (B) Ganga —Yamuna

(C) Krishna — Godavari (D) Narmada — Tapi

Meena Hemachandra Committee has been constituted by RBI on

(A) Demonetization (B) Cyber Security

(C) Loan Waiver Policy (D) None of the above

Which of the following country recently passed Hindu Marriage Bill, 2017 ?

(A) India (B) Nepal (C) Pakistan (D) Bangladesh
Which of the following lawyer appeared on the behalf of India at the International Court of
Justice in the case of Khulbhushan Jadhav ?

(A) Mukul Rohatgi (B) Ram Jethmalani (C) Harish Slave (D) Shashi Tharoor

The T.S.R. Subramanian Committee on the draft education policy recommended that the

outlay on education should be raised to at least of GDP.

(A) 5% (B) 6% (C) 7% (D) 8%

Under the National Mission for Green India outlined under the National Action Plan on
Climate Change (NAPCC), India aims to increase its forest cover by million hectares.
(A) 2 (B) 3 (C) 4 (D) 5

Indian Fisheries and aquaculture sector contributes of the GDP and

of the Agriculture GDP respectively.
(A) 6.5%,11.5% (B) 3.5%,7.15% (C) 24%,65% (D) 1.1 %,5.15%

Which of the following statements mention the eligibility for a Central Public Enterprise to be
considered as a “Maharatna” ?

(A) Average annual net profit after tax of more than Rs. 5,000 crore during the last 3 years
(B) Average annual net profit after tax of more than Rs. 10,000 crore during the last 3 years
(C) Average annual net profit after tax of more than Rs. 5,000 crore during the last 5 years
(D) Average annual net profit after tax of more than Rs. 10,000 crore during the last 5 years

Which of the following statements regarding the Line of Actual Control is/ are true ?
i. Itis a line of military control between parts of Kashmir controlled by India and Pakistan.
ii. Itis military border separating Indian areas of Jammu and Kashmir from Aksai Chin.
iii. Itis nearly 776 kms long.
iv. Itis clearly demarcated by the militaries.
(A) Only i (B) Only ii (C) only i, iii, iv (D) Only ii and iii
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